| X | =]

WA WHE Y W

One times one equals one.

1/81

| X3=3

WA SAD TA

One times three equals three.

3/81

| X2 =2

WA 12 A IZ

One times two equals two.

2/81

| X4 =4

WA L AL

One times four equals four.

4/81




| X0 =0

WA T H 2

One times five equals five.

5/81

| X =77

WA LB D LE

One times seven equals seven.

7/81

| X6=06

WA A< DAL

One times six equals six.

6/81

| X8=03

WA 1B DY IED
One times eight equals eight.

8/81




| X9 =9

WA < A K

One times nine equals nine.

9/81

2X2=4

2 ICA DL

Two times two equals four.

11/81

2X | =2

12 WBE A C

Two times one equals two.

10/81

2X3=6

I XA D AL

Two times three equals six.

12/81




2X4 =8

I LA IEH
Two times four equals eight.

13/81

2X6=12

IZ A< w2l
Two times six equals twelve.

15/81

2X5=10

IZZ Cw?
Two times five equals ten.

14/81

2X'T=14

I Lb LCwolL
Two times seven equals fourteen.

16/81




2X38=16

IZE5 Lo AL

Two times eight equals sixteen.

17/81

3X | =3

SA WL A TA

Three times one equals three.

19/81

2X9 =18

I < Lwoldb
Two times nine equals eighteen.

18/81

3IX2=6

S AT H AL

Three times two equals six.

20/81




3X3=9

S A DL
Three times three equals nine.

21/81

3X5=15

SATLwHZ
Three times five equals fifteen.

23/81

IX4=12

<A L Lwoll

Three times four equals twelve.

22/81

3X6=18

SR8 AHL Lwoldb

Three times six equals eighteen.

24/81




33X =21

SALBIZLWYWE
Three times seven equals twenty-one.

25/81

3XG =27

A< IZLwY LB

Three times nine equals twenty-seven.

27/81

3 X3S =24

SAIEICCw S L
Three times eight equals twenty-four.

26/81

4X | =4

L Wb AL

Four times one equals four.

28/81




4L X2=38

L2 E5
Four times two equals eight.

29/81

4LX4=16

L L LCwoAL

Four times four equals sixteen.

31/81

LX3=12

L A LUwlIC

Four times three equals twelve.

30/81

4 X5=20

L ZIClwo
Four times five equals twenty.

32/81




L X6=24

L A< 2w L
Four times six equals twenty-four.

33/81

4 X5=32

LIl AL DIC

Four times eight equals thirty-two.

35/81

4 X']=238

L LBICLw DD

Four times seven equals twenty-eight.

34/81

4 X9 =36

L < TALlwIAL

Four times nine equals thirty-six.

36/81




oX | =

T Wb NI
Five times one equals five.

37/81

OX3=15

T IALwHZ
Five times three equals fifteen.

39/81

oX2=10

ZII2Ltwo
Five times two equals ten.

38/81

o X4 =20

ZLICCwD
Five times four equals twenty.

40/81




OXO5=25

T ZIClwsZ
Five times five equals twenty-five.

41/81

OX '] =35

L TALWHYT
Five times seven equals thirty-five.

43/81

OX6=30

T AL ALY D

Five times six equals thirty.

42/81

OX3 =40

ZlELLwD

Five times eight equals forty.

44/81




OXG =45

o< LLtwoZ
Five times nine equals forty-five.

45/81

O6X2=12

AL T Lw DIl
Six times two equals twelve.

47/81

OX | =6

AL Wb AN AL

Six times one equals six.

46/81

6X3=106

AL SALwOIEH

Six times three equals eighteen.

48/81




O X4 =24

AL LICLwO L
Six times four equals twenty-four.

49/81

6X6=36

HL AL Al AL

Six times six equals thirty-six.

51/81

6 X5 =30

AL T EALWD

Six times five equals thirty.

50/81

O X' =42

AL LB LEw IS

Six times seven equals forty-two.

52/81




6 X3 =43

AL IF LEwOIED
Six times eight equals forty-eight.

53/81

X | =7

LL Wb A LD

Seven times one equals seven.

55/81

O X4 =54

> ZTLlwol
Six times nine equals fifty-four.

54/81

1 X2=14

LHICLCwoL
Seven times two equals fourteen.

56/81




T X3=2]

LB TAIICLWIND
Seven times three equals twenty-one.

57/81

7X5=35

L T ALY
Seven times five equals thirty-five.

59/81

| X4 =28

LBt LICLwOlEh

Seven times four equals twenty-eight.

58/81

1 X6=42

L A< LEwDIC

Seven times six equals forty-two.

60/81




TXT=49 |71 X9 =63

L5 LB LLEwSL LH ALK Lw I A
Seven times seven equals forty-nine. Seven times nine equals sixty-three.
61/81 63/81
LB ZTCw AL 5 WH A ED
Seven times eight equals fifty-six. Eight times one equals eight.

62/81 64/81




3X2=16

x5 I w2 A<

Eight times two equals sixteen.

65/81

3X4 =32

I35 L AL IS
Eight times four equals thirty-two.

67/81

S X3 =24

IT-> A ICLCwD L

Eight times three equals twenty-four.

66/81

3 X9 =40

6 T LLw?D
Eight times five equals forty.

68/81




3X6=438

iEH A< LEwOIEH
Eight times six equals forty-eight.

69/81

3X3 =04

T AL LwHL
Eight times eight equals sixty-four.

71/81

3 X1 =56

I Lb TCw AL

Eight times seven equals fifty-six.

70/81

3XG =772

iT-> < LbLw oI

Eight times nine equals seventy-two.

72/81




IX1| =9

< Wb D <
Nine times one equals nine.

73/81

IX3=27

CEAIICLwHY LD

Nine times three equals twenty-seven.

75/81

IX2=16

CIZLwolds
Nine times two equals eighteen.

74/81

9X4 =36

CLEALwS AL

Nine times four equals thirty-six.

76/81




GX5=45

CZLLwaZ
Nine times five equals forty-five.

77/81

IXT =63

C LB ALLwISTA

Nine times seven equals sixty-three.

79/81

IX6=54

AL ZTLlwolL
Nine times six equals fifty-four.

78/81

IXS="72

ClE LBl oI

Nine times eight equals seventy-two.

80/81




IXq =35l

CLCEBLEw I NG

Nine times nine equals eighty-one.

81/81




